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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) narjmWu gd©àW_ AnZo àíZ nÌ na Zm_m§H$ A{Zdm ©̀V… {bI|&

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) g^rg^rg^rg^rg^r àíZ hb H$aZo A{Zdm ©̀ h¢&

All the questions are compulsory.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI|&

Write the answer to each question in the given answer-book only.
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4) {OZ àíZmo§ ‘| AmÝV[aH$ IÊS> h¡§, CZ g^r Ho$ CÎma EH$ gmW hr {bI|&

For questions having more than one part, the answers to those parts are to be
written together in continuity.

5) àíZ nÌ Ho$ {hÝXr d A§J«oOr ê$nmÝVa ‘| {H$gr àH$ma H$s Ìw{Q> / AÝVa / {damoYm^mg hmoZo na {hÝXr ^mfm
Ho$ àíZ H$mo ghr ‘mZ|&

If there is any error / difference / contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.

6) àíZ H$m CÎma {bIZo go nyd© àíZ H$m H«$‘m§H$ Adí¶ {bI|&

Write down the serial number of the question before attempting it.

7) àíZ g§»¶m 23 ‘mZ{MÌ H$m¶© go g§~§{YV h¡ Am¡a 4 A§H$ H$m h¡ &

Question No. 23 is related to map-work carrying 4 marks.

8) àíZ g§»¶m 17 go 23 VH$ ‘| Am§V[aH$ {dH$ën h¢ &

There are internal choices in Question Nos. 17 to 23.
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IÊS> - AIÊS> - AIÊS> - AIÊS> - AIÊS> - A
SECTION - A

~hþ{dH$ënr àíZ :
Multiple choice :

1) {ZåZ àíZm| Ho$ CÎma H$m ghr {dH$ën M¶Z H$a CÎma nwpñVH$m ‘| {b{IE&

Select the correct answer of following questions and write in the answer book.

i) O‘}{Z¶m {H$g amîQ´> H$m ê$nH$ ~Z JB© Wr? [1]

A) {~«Q>oZ ~) ’«$m§g

g) O‘©Zr X) ê$g

Which Nation did Germania became the allegory?

A) Britain B) France

C) Germany D) Russia

ii) CJVo gy¶© H$s {H$aU| {ZåZ ‘| go {H$gH$m àVrH$ h¡? [1]

A) AmOmXr {‘bZm ~) ~hmXþar

g) em§{V X) EH$ Z¶o ¶wJ H$m gyÌnmV

Which of the following symbolizes the rays of the rising Sun?

A) Being Freed B) Heroism

C) Peace D) Beginning of a new era

iii) {ZåZ ‘| go {H$go gm{hË¶ H$m Zmo~b nwañH$ma àXmZ {H$¶m J¶m? [1]

A) gr.dr. a‘Z ~) dr.Eg. Zm¶nmb

g) ‘Xa Q>oaogm X) A‘Ë¶© goZ

Who among the following was awarded the Nobel Prize for Literature?

A) C.V. Raman B) V.S. Naipaul

C) Mother Teresa D) Amartya Sen
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iv) “Py‘ IoVr” ³¶m h¡? [1]
A) ñWmZm§Var H¥${f ~) dm{UpÁ¶H$ H¥${f
g) amonU H¥${f X) JhZ Or{dH$m H¥${f
What is “Jhum Cultivation”?
A) Shifting Cultivation B) Commercial Cultivation
C) Plantation Cultivation D) Intensive Subsistence Cultivation

v) gaXma gamoda ~m§Y {H$g ZXr na ~Zm¶m J¶m h¡? [1]
A) ‘hmZXr ~) J§Jm
g) Z‘©Xm X) JmoXmdar
Over which river has the Sardar Sarovar Dam been built?
A) Mahanadi B) Ganga
C) Narmada D) Godavari

vi) a~r ’$gbm| H$m ¶w½‘ h¡? [1]
A) Joh±ÿ - Om¡ ~) Joh±ÿ - Mmdb
g) Ádma - ~mOam X) gagmo - H$nmg
The Rabi Crop pair is -
A) Wheat - Barley B) Wheat - Rice
C) Jowar - Bajra D) Mustard - Cotton

vii) ~opëO¶‘ H$s amOYmZr H$m Zm‘ h¡ - [1]
A) H$mobå~mo ~) ~¢H$mH$
g) Zo‘ya X) ~«ygoëg
The name of the capital of Belgium is -
A) Colombo B) Bangkok
C) Namur D) Brussels

viii) {ZåZ ‘| go H$m¡Zgm {df¶ g§{dYmZ ‘| e{³V{dVaU H$s {H$gr ^r gyMr ‘| Zht h¡ - [1]
A) ì¶mnma ~) d¡Xo{eH$ gå~ÝY
g) {ejm X) H$åß¶yQ>a gmoâQ>do¶a
Which of the following subject is not in any list of power distribution in constitution?
A) Trade B) Foreign relation
C) Education D) Computer software
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ix) ~m‘go’$ (BAMCEF) g§JR>Z H$m gå~ÝY h¡ - [1]

A) amOZoVmAm| go ~) {H$gmZm| go

g) gaH$mar H$‘©Mm[a¶m| go X) ‘OXÿam| go

BAMCEF organisation is related to -

A) Politicians B) Farmers

C) Government employees D) Workers

x) ‘mZd {dH$mg [anmoQ>© Omar H$aZo dmbr g§ñWm h¡ - [1]

A) g§¶w³V amîQ´> {dH$mg H$m¶©H«$‘ ~) {díd ~¢H$

g) [aOd© ~¢H$ X) Zr{V Am¶moJ

Human Development report is published by -

A) United Nations Development Programme B) World Bank

C) Reserve Bank D) Niti Aayog

xi) {ÛVr¶H$ joÌ go g§~{YV ì¶dgm¶ h¡ - [1]

A) CÚmoJ ~) ~¢qH$J

g) g§Mma godmE± X) ^ÊS>maU godmE±

Occupation related to secondary sector is -

A) Industries B) Banking

C) Communication services D) Storage services

xii) {ZåZ ‘| H$m¡Zgm Xoe gñVm {d{Z‘m©U Ho$ÝÐ H$m CXmhaU h¡ - [1]

A) B§½b¡ÊS> ~) MrZ

g) Am°ñQ´>o{b¶m X) A‘o[aH$m

Which of the following countries is an example of a cheap manufacturing hub?

A) England B) China

C) Australia D) America
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2) [a³V ñWmZ H$s ny{V© H$s{O¶o -

Fill in the blanks -

i) EH$ gmW ~hþV gmao Xoem| ‘| ì¶dgm¶ H$aZo dmbr H§$n{Z¶m| H$mo __________ {ZJ‘ H$hm OmVm h¡&[1]

Companies, that do business in several countries at the same time are called
__________ corporations.

ii) Ord‘§S>b go àmßV g§gmYZ {OZ‘| OrdZ ì¶mßV h¡ ___________ H$hbmVo h¡& [1]

The resources, obtained from biosphere and which have life, are known as __________.

iii) ì¶{³V¶m| Ho$ ~rM Ym{‘©H$ AmñWm Ho$ AmYma na ôX m̂d Zht H$aZo dmbm ì¶{³V ________ H$hbmVm h¡& [1]

A person who does not discriminate others on the basis of religious beliefs, is known
as ___________.

iv) {H$gr Xoe H$s Am¶ Cg Xoe Ho$ g^r ___________ H$s Am¶ h¡& [1]

Income of any country is the income of all the ____________ of that country.

v) V¥Vr¶H$ joÌH$ H$mo ___________ ^r H$hm OmVm h¡& [1]

Tertiary sector is also called as ____________.

vi) ___________ ‘| Vrd« CÝZ{V Zo d¡ídrH$aU H$s à{H«$¶m H$mo CËào[aV {H$¶m h¡& [1]

Rapid improvement in ___________ has stimulated the globalisation process.

3) A{VbKwÎmamË‘H$ (àíZm| Ho$ CÎma EH$ eãX ¶m EH$ n§{³V ‘| Xr{O¶o) :

Very short (Write the answer of the question in one word or one line) :

i) ‘marAmZ H$s à{V‘mE§ gmd©O{ZH$ Mm¡H$m| na ³¶m| bJmB© JB©? [1]

Why statues of Marianne were erected in public squares?

ii) {H$g ~r‘mar Zo 1890 Ho$ XeH$ ‘| 90 à{VeV ‘do{e¶m| H$mo ‘m¡V H$s ZtX gwbm {X¶m? [1]

Which disease killed 90 percent of cattle in the 1890s?

iii) ~«oQ>Z dwS>g gå‘obZ {H$g Xoe ‘| Am¶mo{OV {H$¶m J¶m? [1]

In which country was the Bretton woods conference held?

iv) dZm| go àmßV hmoZo dmbr Xmo dñVwAm| Ho$ Zm‘ ~VmBE& [½+½=1]

Write names of two things that are obtained from forest.
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v) “Q>m±H$m” ³¶m h¡? [1]
What is a “Tanka”?

vi) ^maV ‘| CJmB© OmZo dmbr Xmo ‘w»¶ aoeoXma ’$gbm| Ho$ Zm‘ ~VmBE& [½+½=1]
Write names of two major fibre crops grown in India.

vii) lrb§H$m ñdVÝÌ amîQ´> H$~ ~Zm? [1]
When did Sri Lanka emerge as an independent country?

viii) ^maVr¶ g§{dYmZ ‘| {hÝXr Ho$ Abmdm {H$VZr ^mfmAm| H$mo AZwgy{MV ^mfm H$m XOm© {X¶m J¶m? [1]
How many languages are recognised as scheduled languages by the Indian
constitution besides Hindi?

ix) {H$gr AmÝXmobZ Ho$ amOZr{VH$ Xb Ho$ ê$n ‘| ~XbZo H$m H$moB© EH$ CXmhaU Xr{O¶o& [1]
Give any one example of the transformation of the movement into a political party.

x) YmaUr¶ {dH$mg go Amn ³¶m g‘PVo h¢? [1]
What do you understand by sustainable development?

xi) AmnHo$ AZwgma ^maV ‘| A{YH$m±e bmoJ H$hm± {Z¶mo{OV h¢? [1]
According to you where are most people of India employed?

xii) a¡Z~¡³gr H$ånZr ³¶m CËnmXZ H$aVr h¡? [1]
What does Ranbaxy company produce?

IÊS> - ~IÊS> - ~IÊS> - ~IÊS> - ~IÊS> - ~
SECTION - B

bKwÎmamË‘H$ àíZ - àíZ g. 04 go 16 Ho$ CÎma {b{IE (eãX gr‘m 50 eãX) :
Short Answer Questions - Write the answer of the question Serial No. 04 to 16
(Words limitation of 50 words) :

4) ê$‹T>rdmX ³¶m h¡? [2]
What is conservatism?

5) Io‹S>m {Obo Ho$ {H$gmZ {H$g H$maU bJmZ MwH$mZo H$s hmbV ‘| Zht Wo? [2]
For what reasons the peasants of the Kheda district were not in position to pay the revenue?
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6) Am¶mV ewëH$ ³¶m h¡? [2]
What is Tariff ?

7) ‘g‘wXm¶ Ûmam dZ g§ajU’ H$mo g§{jßV ‘| g‘PmBE& [2]
Explain in brief  the ‘Forest Conservation by Community’.

8) ^maV Ho$ Ob - g§gmYZ ‘§Ìr Ho$ ê$n ‘| ¶{X AmnH$mo EH$ ZXr KmQ>r n[a¶moOZm H$m ‘gm¡Xm V¡¶ma H$aZo H$mo H$hm
OmE Vmo Amn {H$Z-{H$Z {~ÝXþAm| H$m Ü¶mZ aI|Jo? [2]
As the Water - Resource Minister of India, if you were asked to draft a river valley project,
what points would you take into account?

9) H$m~©{ZH$ H¥${f H$s ì¶m»¶m H$s{OE& [2]
Discuss organic agriculture.

10) gÎmm H$s gmPoXmar ‘| ‘{Z¶ÝÌU Ed§ gÝVwbZ H$s ì¶dñWm’ H$mo g§jon ‘| ñnîQ> H$s{O¶o& [2]
Explain in brief the ‘system of check and balance’ in power sharing.

11) g§Kr¶ ì¶dñWm H$s H$moB© Xmo {deofVmAm| H$mo ñnîQ> H$s{O¶o& [2]
Explain any two features of federal system.

12) AmnHo$ ‘VmZwgma dJ© {deof Ho$ {hV g‘yh Am¡a OZ gm‘mÝ¶ Ho$ {hV g‘yh ‘| ³¶m AÝVa h¡? gmoXmhaU g‘PmB¶o&
[2]

According to your view what is the difference between sectional interest groups and public
interest groups? Explain by example.

13) J¡a ZdrH$aUr¶ gmYZ go Amn ³¶m g‘PVo h¢? [2]
What do you understand by non renewable resources?

14) àmW{‘H$ joÌ H$s H$moB© Xmo J{V{d{Y¶m| Ho$ CXmhaU Xr{OE& [2]
Give any two examples of Primary Sector Activity.
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15) ñd¶§ ghm¶Vm g‘yh Ho$ H$moB© Xmo bm^ {b{IE& [2]
Write any two benefits of self help group.

16) ~hþamîQ´>r¶ H$ån{Z¶m± H¡$go H$m¶© H$aVr h¢? g‘PmB¶o& [2]
How do multinational companies work? Explain.

IÊS> - gIÊS> - gIÊS> - gIÊS> - gIÊS> - g
SECTION - C

XrK© CÎmar¶ àíZ - àíZ 17 go 20 Ho$ CÎma {b{I¶o (eãX gr‘m 100 eãX) :
Long answer type questions - Write the answers of the question 17 to 20
(Word limitation 100 words) :

17) AÝñQ>© aoZZ Ho$ AZwgma amîQ´> ³¶m h¡? [3]
What is a nation according to Ernest Renan?

AWdm/OR
CXmadmXr amîQ´>dmX H$s {deofVmE± {b{I¶o& [3]
Write the features of liberal nationalism.

18) g‘mß¶Vm Ho$ AmYma na g§gmYZm| H$m dJuH$aU H$s{OE& [1½+1½=3]
Classify the resources on the basis of exhaustibility.

AWdm/OR
‘¥Xm AnaXZ {H$go H$hVo h¢? BgHo$ H$maU d g§ajU Ho$ Cnm¶ {b{IE& [1+1+1=3]
What is soil-erosion? Write the reasons of soil-erosion and methods of soil-conservation.

19) gm‘m{OH$ {d^mOZ Ho$ VrZ Am¶m‘m| H$s {ddoMZm H$s{O¶o& [3]
Explain the three determinants of social divisions.

AWdm/OR
‘gm‘m{OH$ ôX^md H$s CËn{Îm’ H$mo ñnîQ> H$s{O¶o& [3]
Explain ‘the origins of social differences’.

[ Turn Over
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20) ~¢H$mo go AmnH$mo H$m¡Z-H$m¡Z gr gw{dYmE± àmßV hmoVr h¢? {H$Ýht VrZ H$m CëboI H$s{OE& [3]
What facilities do you get from banks? Mention any three.

AWdm/OR

“~¢H$ O‘m am{e Ho$ EH$ ~‹S>o ^mJ H$mo F$U XoZo Ho$ {bE BñVo‘mb H$aVo h¢&” ³¶m Amn Bg H$WZ go gh‘V h¢?
AnZo ‘V H$s {ddoMZm H$s{OE& [3]
“Banks use a large part of their deposits for giving loans.” Do you agree with this statement?
Explain your views.

IÊS> - XIÊS> - XIÊS> - XIÊS> - XIÊS> - X
SECTION - D

{Z~ÝYmË‘H$ àíZ - àíZ 21 go 22 Ho$ CÎma {b{I¶o (eãX gr‘m 250 eãX) :
Essay type questions - Write the answer of question 21 to 22 (Word limitation 250 words) :

21) Agh¶moJ AmÝXmobZ Ho$ Xm¡amZ eham| H$s J{V{d{Y¶m| H$m dU©Z H$s{OE& [4]
Describe the activities of the cities during Non-Cooperation Movement.

AWdm/OR

‘hmË‘m Jm§Yr Zo Añn¥í¶Vm H$m CÝ‘ybZ H$aZo Ho$ {bE ³¶m-³¶m H$m¶© {H$E? [4]
What did Mahatma Gandhi do to abolish untouchability?

22) Y‘©{Zanoj emgZ Ho$ {b¶o ^maVr¶ g§{dYmZ ‘| H$m¡Zgo àmdYmZ {H$¶o J¶o h¡? H$moB© Mma H$s {ddoMZm H$s{O¶o&
[4]

What provisions are made in the Indian Constitution for Secular Governance? Discuss any
four.

AWdm/OR

^maV ‘| ‘{hbmAm| H$s pñW{V A^r ^r nwê$fm| go H$m’$s nrN>o h¡& ³¶m|? H$moB© Mma H$maU ñnîQ> H$s{O¶o& [4]
Why is the position of women still far behind of men in India? Explain any four reasons.
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23) àíZ H$m CÎma {X¶o J¶o ‘mZ{MÌ ‘| Xr{OE :-

Write the answer in the given map :-

{X¶o J¶o ^maV Ho$ aoIm ‘mZ{MÌ ‘| {ZåZ{b{IV H$mo A§{H$V H$s{OE - [1+1+1+1=4]

A) AO‘oa

~) J¶m

g) XþJ©

X) Zoëbmoa

Mark the following in the given outline map of India -

A) Ajmer

B) Gaya

C) Durg

D) Nellore

AWdm/OR

{X¶o J¶o ^maV Ho$ aoIm ‘mZ{MÌ ‘| {ZåZ{b{IV H$mo A§{H$V H$s{OE - [1+1+1+1=4]

A) Zamoam

~) amdV^mQ>m

g) Vmamnwa

X) H$bn³H$‘

Mark the following in the given outline map of India -

A) Naraura

B) Rawatbhata

C) Tarapur

D) Kalpakkam


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